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® 14V2+4V3 @ 14v2-4v8  @)1svi-23
@ 18v2+2v3 ® 24V2+443
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V18 + V48 — 227 + 350
=3V2+4V3-6V3+15v2
= (3v2+15v2) + (4V3-63)

=18vV2-2V3
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E 0 1 2 3
2.6 1.612 1.616 1.619 1.622
2.7 1.643 1.646 1.649 1.652
2.8 1.673 1.676 1.679 1.682
2.9 1.703 1.706 1.709 1,712
D V2.61 @x/zzz
® 283 @ +2.93

® V2.62 + V2.70

B

D v2.61 =1.616

@ +2.93 =1.712
® V2.62 + V2.70 = 1.619 + 1.643 = 3.262

@ VT3 = \[272x 1 - FOIR BE olgste] 7T 4 S,

® V283 = V2.83 x 100 = 10 V2.83 = 16.82




6. (x-3)(x*+9)(x+3)= A7NstH?

® x*-9 @ x*>-81 @ x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x*4+9) = (x* =9)(x* +9) = x* - 81




7. (x+1)2-5(x+1)+6 2 A5Es5HH?

@) (x-1)(x-2) @ (x+1)(x+2)
® (x-1)(x+2) @ (x+1)(x-2)
® —(x-1)(x+2)
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x+1 =12 x3stH

2=5t+6=(t-2)(t—3)
=x+1-2)(x+1-3)
= (x-1)(x-2)
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11, x off THE O]AFA1S 24 4 5 2 LHFR o] 3y 4 4 o] 2, YA 1

@D 3x2+12x+1 @ 3x2+12x+11
® 6x% +23x+20 @ 6x2 4 27x+ 20

@ 6x2 + 23x + 21

X (%) + (HHA]) o] B2
(3x+4)+1 =6x2+23x+21
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byt = (P 4y - 2(y)? =25 -2%x4 =17
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4-2  4+42v2

15. a= 3 3

A o, 44> 4 4ab + b* 2] & T3kt

4a® + 4ab + b* = (2a + b)*
8-2v2 4+2v2

= 42
=16




